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Ag = (1,2 ± 1,7(stat) ± 0,7(sys)) · 10−4.
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
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|K0
S〉 =
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1 + ε2

(|K1〉 + ε|K2〉)

|K0
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1 + ε2

(ε|K1〉 + |K2〉) .
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� �� (���� '�� '���*��! �47���%��"#!& �1 �5���1 '�� !�#���%�! 
 � !�! , ��' '#�-.'�! 4���1 ����

ε′
3��-.���3 �! 
 �� ��� , �� / %&� '��!���� �

ε′ =
1√
2
Im

(

A2

A0

)

eiΦ

1��
Φ = π

2
+ δ2 − δ0

#!' '�! �3��&�!&�7�1 � %��#'�! A0
#!' A2

"# '�! ",�� 4� !�!
�#��:!'�! 1 �� �� �� �! ��L #!' �� K 
 � , �� '�� ����*�! 4.���!

δ0
#!' δ2

G � �� ����*�!4.���!
δ0

#!' δ2

*�!!�! ��� ���1 �!��%% " G	 G �3��
ππ

7����##!& 3����11� ,��'�! G
+��� #!' 
��� 3����11��! '�! � ��%���% 9 !

ε′/ε
�3�� '�� � �� �%9��.:%�!��

Γ(KL → π0π0)/Γ(KL → π+π−)

Γ(KS → π0π0)/Γ(KS → π+π−)
≈ 1 − 6Re(ε′/ε).

I� G�J
���"��� %��&� '�� ��%�1 ����%,��� /��

Re(ε′/ε)
�4�(L
� 3 ��

Re(ε′/ε) = (1,67 ± 0,23) · 10−3.
I� G� J

��� ������������� �� 
� 	��� 
�� ����
���� � ���
���

�! '����� � �3 ��� , ��' '�� (���� '�� �47���%��"#!& �1 �5���1 '�� &�%�'�!�! 
 � 7!�! &�1 ����! G ��&�! '�� F�'#!&���.�%�#!& *�!! .��� !#� '���*�� �47���%��"#!&�#/�����! 
 '���� *�!! ��-. � �' -. �#/ #!����-.��'%�-.� ����� "��&�! � "#1 ��!�! '#�-.#!����-.��'%�-.� ������%%� ���/�%%�3�����! 9 !
K+ #!' K−

Γ(K+ → 3π) 6= Γ(K− → 3π),
I� G�J

#!' "#1 �!'���! �! ��!�� � �511����� �1 ;������%�1 �!� '�� ���/:%%�
M(K+ → 3π) 6= M(K− → 3π).
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 � !�!
�� '�� � �511����� �! '�1 ;������%�1 �!� 9 ! �.� �����-.�! 4.5��*��! &����� 9 �7.��&���&� , ��' #!' "#'�1 ��� ���1 �!��%% ��!/�-.�� "# 3 ����11�! ��� 
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 '��� �  ����9� 
 � !�! #!' !�&���9� 
 � !�! !�-.��#/ '�� &%��-.� � �� #!' ����� �! '��� 4 � !�! "��/�%%�! G � �� '���*�� �47���%��"#!&�1 ���/�%% '�� &�%�'�!�! 
 � !�! �!����.� �3�� �!���/���!" '�� &%��-.�! 4 �!&#�!7� ��&��11� I�33 G � GK #!' � G�J , �� '�� '�� !�#���%�! 
 � !�! 
 �%%��'�!&� ��!' '��$�!����� '�� ��!"�%!�! � ��&��11� #!����-.��'%�-. ����* G
�3%�-.��,���� , ��' '�� ;������%�1 �!� �%� 2#!*�� ! '�� ��%��"9����3%�! �!�, �-*�%� �

|M(u,v)|2 ∝ 1 + gu + hu2 + kv2 I� GHJ
'�3 �� , ��' '�� / %&�!'� ���!��� ! /�� '�� ��%��"9����3%�! 9��,�!'�� �

u = (s3 −
s0)/m

2
π+



v = (s2−s1)/m

2
π+

1 ��
si = (PK −Pπi

)2 
 i = 1,2,3 #!' s0 = 1
3
(s1 +s2 +s2)

G
��&�! '�� �511����� '�� &%��-. &�%�'�!�! 4� !�! &�3� �� *��!�! %�!����! ���1 �!
v
G �! '����� � �3 ��� ,��'�! �#���'�1 '�� �#�'�����-.�! ���1 � �!

v
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� ��% '�� � �3 ��� ��� �� 
 '�! 4���1����
Ag

"# 1 ����! 
 '�� '�! 8!����-.��' '�� %�!����!
���1 � '�� ;������%�1 �!�� 9 !

K+ #!' K− 3��-.���3� �

Ag =
g+ − g−

g+ + g− ≈ ∆g

2g

I� G�J

g+ 3", G
g− ���.�! .��� /�� '�! 4���1 ����

g
�1

K+7 3", K−7���/�%% #!' �� &�%�
∆g = g+ − g− G $ �! ���� /��

Ag
#!&%��-. +#%% 3 �'�#��� �47���%��"#!& G Ag

*�!!� , .% /�� '�! ) &�%�'�!�!0 ���/�%%�*�!�% K± → π±π+π− �%� �#-. /�� '�! )!�#���%�!0���/�%%�*�!�%
K± → π±π0π0 &�1 ����! ,��'�! G 81 '�� 4���1 ���� '�� 3 ��'�! 
 �!:%�

#!����-.��'�! "# *�!!�! 
 ,��'�! �3%�-.��,���� '�� �!'�"�� � I/�� �!&%��-. ����" �� J '��
τ
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 �!�% #!' + I/�� �!&%��-.  ����� � J  '��
τ ′ /�� '�!

)!�#���%�!0 
 �!�% 3 �!#�"� G ���'�! �! '����� � �3 ��� '�� �!'�"�� ,�&&�%����! 
 '�!!��!' '�� 4���1���� /�� '�! �! '����� � �3 ��� 3 �.�!'�%��! )!�#���%�!0 
 �!�% &�1 ��!� G
(�1����! , ��'

∆g
�!'�1 '�� ���.:%�!�� '��

u
7������%#!&�! /��

K+ #!' K− &�3�%'��
, ��' #!' '�� 2#!*�� !

R = N
U(K+)

U(K−)
≈ N

1 + g+ u + h u2

1 + g− u + h u2
= N

(

1 +
∆g u

1 + g− u + h u2

) I� G�J
�! '�� ����! �!&������ , ��' G �! '����� 2 �1 �% , ��' �!&�! 11�! 
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h+ = h− =
h
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N

��� ��! /����� 4���1 ���� '�� '�1 ���.:%�!�� 9 !
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K± → π±π0π03�!#�"� G g− ��� �1 � �.1 �! '�� 2�.%��
g−= g = 0,626±0,007 #!' h = 0,052±0,008�4�(L
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∆I = 1
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K± → 3π
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∆I = 3
2
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∆I = 1
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• ( G � ��13� �� �� �% G ��13� �� .�3 �! 1 �� � �%/� '�� -.���%�! ����#!&��.� ���3�� "#� � �'!#!& p4 '�� (���� '�� �47���%��"#!& 3���-.!�� G $� , ��' ��! ����/�� |∆gC | ≤ 4,5 · 10−5 �!&�&�3 �! G
• ( G ���' �� �� �% G �����K� 3�!#�"�! 	 72�*� ��! �#� '�� (�����7!�� #1 '��;����� 7$ %�1 �!�� '�� -.���%�! �� ���� ��! "# 3 ���-.!�! G � �� 	 72�*� ��! 3�7�-.���3 �! '�� 8!����-.��'� '�� �! '�! 
 � !�! &�3#!'�!�! !#��*� "# /����!

!#��*� 3 �� '�!
∆S = 2

�3 ��&:!&�! G $� ,��'�! ����� /�� '�� �479��%��7
"�!'� � �511����� �1 	 ����-. 9 ! −0,70 · 10−6 3�� −1,60 · 10−6 /��
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• � G � G 	 �%* 9 �� �% G �	 �%L�� 9��&%��-.�! 	 ���-.!#!&�! '�� �1� %��#'�! /��

K → 2π
�! '�� � �'!#!& O(p6) #!��� $ �!3 �"��.#!& '�� ����� /��

ε′/ε
1 ��$�&�3!����! 9 ! $�� ���1 �!��! #1 '�� 	 72�*� ��! "# 3����11 �! G ; �� '���!

� �%/� , ��' '�!! ��!� � �.����&� /�� '�� �479��%��"�!'� � �511����� �1 ��%��"74 % � &�1 �-.� �
1,6 · 10−4 < ∆gC < 4,2 · 10−4 #!' 0,9 · 10−4 < ∆gN < 2,2 · 10−41 �� ��!�� 
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∆gN
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ε′/ε
'�� � �511�����

∆gN
"# ∆gN = (0,18 ± 0,03) · 10−5 G
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ε, ε′/ε #!' KL → π0e+e−
3�!#�"� G � �� (����! �'!#!& '��

� �511����� , ��' 1 ��
10−5 �!&�&�3 �! 
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;�.���� $�� ���1 �!�� .�3 �! 3������ ��!� ;���#!& "#� 	 ����11#!& '�� �47���%��7
"#!& �1 �5���1 '�� &�%�'�!�! 
 � !�! '#�-.&�/�.�� G 	 ������ ��H� .�3 �! 
 G; G �1��.�� �% G !�-. �479��%��"�!'�! $��*��! �! '�1 ���/�%%

K± → π±π0π0 &��#-.� ��1 �H�� G
	�!#�"� ,#�'� '�1�%� ��! #!����������� 5 GeV/c

����.% 
 �! '�1 
 7; �� !�! '#�-.��!�! '�� ���!���%%�! �.���!* 9 �:.%�� �'�!���"���� #!' '�� �1�#%� '�� 
 � !�! '#�-.� ' �* � � 3 ����11� ,#�'� G ��� &�%�'�!� 4� ! ,#�'� �! ",�� 2#!*�!*�11��! ��7&������� 
 '�� ��* !���#����� ��#� '�� 4� !� ,#�'� '�!! 1 �� '�� ��#� '�� ��!� ��&�!7'�! 
 � !� * 13�!���� #1 '�! ���/�%%�9����� "# 3����11�! G � �� 4. � !�! ,#�'�!�! ��!��
2 cm

'�-*�! 	 %��74 %���� * !9������� #!' '�� $%�*�� !�! �! '�1 '�.�!���%��7&�!'�! � ' �* � '���*����� G ; �� -� G
100000

$���&!����! ,#�'� '�� � �511�����
∆g"# ∆g = (0,19 ± 1,25) · 10−2 3 ����11� G

��� 3��.�� &�!�#���� $�� ���1 �!� ,#�'� 9 ! ( G � G �* �'".�! 9 �� �% G �! '�1
��$47	 ��-.%�#!�&�� �! 4� �9�! 1 ��

35 GeV/c

 � !�! '#�-.&�/�.�� G $� 3 �!#�"7�� ��!�! !�-.� ����������! � �'� !�!����.% �� '#"���� '#�-. 70 GeV/c

4� � !�! 
'�� �#/ ��! ���" �� � �#� � %#1 �!�#1 ���/�! G � �� 
 � !�! ,#�'�! '#�-. '�����!���%%�(��7�.���!* 9 �:.%�� �'�!���"���� G ��� &�%�'�!� 4� ! �1 ���/�%% ,#�'� '#�-. '���
� ' �* � � '���*����� 
 ,:.��!' '�� 4. � !�! �#� '�! 3 ��'�! !�#���%�! 4� !�! �!��!�1 �%�*�� 1 �&!����-.�! 	 %��7�"�!��%%�� �7
 �% ��1���� &�1 ����! ,#�'�! G ; �� -� G
6,1 · 105 $���&!����! ,#�'� ∆g "# ∆g = 0,0002± 0,0024(stat.)± 0,0007(syst.) #!���'�� �!!�.1�

∆h = ∆k = 0
3����11� ��* L�� G �33�%'#!& � G� "��&� ��!�! ���&%��-.'�� �.� �����-.�! � �.����&�! 1 �� '�! 3��.���&�! ;���#!&�! 9 !

∆g
G
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$��� 9 � *#�"�1 ,#�'� 9 ! +����K �!�'�-*� 
 '��� '�� $!�, �-*%#!& '�� ;������%�71 �!�� I� GHJ '�� ���/�%%�
K± → π±π0π0 �%� 2#!*�� ! '�� ��%��"9����3%�! !�-.� � &�!�# ��� , �� &�&%�#3� G 	�� '�� �#-.� !�-. � �!,����! �#/ '�� 4� !�#17�� 1 �!'�! +����K7����! ,#�'� ��!� ���#*�#� �1 ;����� �%�1 �!� ��!�� (����! �'#!& 9 !

10%
�!�'�-*� G (�/#!'�! ,#�'� '�� ���#*�#� �! '�� ������%#!& '�� �!9����!��!

π0π07;����
m2

π0π0


 3�� '�1 ����
m2

π0π0 = 4m2
π+ ≈ 0,0779(GeV/c2)2 1�� '�1 4�(7����'�� ;���� '�� &�%�'�!�! 4� !�

mπ+

G � � '�� ��%��"9����3%� u
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M(K± → π±π0π0) = M0 + M1,
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√
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49,7%J #!' ������'�1 �/I

0,6%J 9��,�!'�� �	�'��� G
� �� KL�� 
 �!:%� � �'�� ���/�*�11�� ,#�'�! 9 ! ��!�1 �� �"��%% . ���/�� �!�, �-*�%7
��1 �#�%����5���1 
 3������!' �#/ ����7� �&���%7
 !9�����7�.��� I��� 7�.���J 
 �#�7&�%���! G � ! ��!�� ;�����7
 ���� ,#�'�! '�� ����! /��

200 µs
�! ��!�1 � �!&�#���&��� ��-.��� 
 #1 /�� ��!� �#�%��� !�-. ��!�� ���&&���!��-.��'#!& 3�����"#���.�! G

� �� �� ��� � ��������	
�� ����� � � ��� ������

�#� ;���#!& '�� $!��&��! 9 ! 4. � !�! #!' $%�*�� !�! ,#�'� ��! 
 �% ��1 ����
1 �� �����&�1 
 �5�� ! �%� �*��9�� ;�'�#1 3�!#�"� 
 '�.�� �#-. '�� +�1� F
 � �
� ��� �� � ��� �� 	� ����
 ����G 2 %����&�� 
 �5�� ! ��&!�� ��-. 3 �� !'��� 
 '� �� ��!�

K




K G� G � �� ���/�%%���&� ! #!' '�� ����*� �

��� @���A� � #� $ ��� ��%%�!���#*�#� '�� F
 � �;��L
� G
��%���9 *%��!�! ����.%#!&�%:!&� 9 !

X0 = 4,76 cm
.�� G � �� ����.%#!&�%:!&� X0

���'�� F:!&� 
 !�-. '�� '�� $!��&�� ��!�� $%�*�� !�  '�� 4. � !� �#/ 1/e
&��#!*�! ��� G�� 3 �� "# *#�"�! 
 �% ��1 ����! $!��&�� .�!��! �#� '�1 ����*� � �#������! *�!! 
��� ' �� �*��9� F:!&� '�� 
 �% ��1 ����� ��! , �-.��&�� 2�*� � /�� '�� $!��&���#���#!& G��� F
 � 9 ! +��� ,�� �KH -1 %�!& 
 '�� �!�����-.� ��,� KH ����.%#!&�%:!&�! 9 !

�����&�1 
 �5�� ! G + �-. '����� � ����!" ��� '�� $!��&�� '�� $ %�*�� !�! #!' 4. � !�!9��!�-.%:���&3�� *%��! G
$ �! ,������� � ����% 9 ! �����&�1 
 �5�� ! ��� ���! *%��!�� ; %����7� �'�#� RM =
4,7 cm

G �! ��!�1 �5%�!'�� 1 �� ��!�1 ��'�#� 
 '�� '�1 ; %����7��'�#� �!�����-.� 
'�� !���� ��! �%�*�� 1 �&!����-.�� �-.�#�� �1 �#�-.�-.!��� 90%
���!�� $!��&�� G ���

*%��!� ; %����7� �'�#� 9 ! �����&�1 
 �5�� ! ��1 �&%�-.�� "#��11�! 1 �� '�� ���!�79����%�! ��&1�!����#!& '�� 
 �% ��1 ����� �!
2 cm × 2 cm

&� �� �#�%���"�%%�! ��!���.� &#�� � ����#���#!& #!' �������� ! '�� 4. � !�! G � �� �#�%���"�%%�! ,#�'�!'#�-. 1,8 cm
3����� 
#� /��7	��5%%�#1 7�����/�! 3 �&��!"� 
 '�� �3,�-.��%!' 
 ��. '�3", G �! '� '�����%%��! G � ���� �����/�! 9��%��/�! �! ��!�� %��-.��! � �-*"�-*/ �1 �!

����.%��-.�#!& G � �� � �-*"�-*/ �1 ,#�'� '#�-. �����/�!1 ��*�! 3����11� 
 '�� �%%�
21 cm

'�� 
#� /��7	 ��5%%�#17�����/�! #1 ±48 mrad
�3%�!*��! I�33 G K G�J G � ���� �!7 �'!#!& 9����!&���� '�� �3.:!&�&*��� '�� $!��&���#���#!& 9 ! '�1 �#/�����#!*��!!��.�%3 ��!�� ��%%� G �#�:�"%�-. ,#'�! '�� ��%%�! !�-.� &�!�# ����%%�% 
 � !'��! �#/'�! ,�.��-.��!%�-.���! ���/�%%��#!*� 9 !

K0
S

7
 � !�! &���-.��� G � ��� � %%�� &�,:.�7%�����! 
 '��� '�� 4. � !�! 1 �&%�-.�� &�!�# �! � �-.�#!& '�� ��&1�!����#!& �#/���� �!#!' � �.�� $!��&�� �#/ !#� ,�!�&� ��%%�! 9�����%�! G
�!�&���1� .���� '�� F
 � ��,� �� GLLL ��%%�! 
 '�� ��!"�%! �3�� � �9����:�*�� 1 �� � �%/�

KH




 �� ���% K G ��� +����K7$�� ���1 �!�

��� @���A� � #� $ ��� !�#���%� � ' �* � �!��&����� �1 F
 � �;��L
� G
� � ��!�� 1 �� �L ;� " &���*����! 2%��.7��� �� �#�&�%���! ,#�'�! G � �� 2%��.7��� �.����! ��!� �#���#!& 9 ! �L 	 �� 
 '�� '#�-. #1 �-.�%�3��� 9�����#�&� � �9����:�*��#1 ,������ K 	 ��� ��,������ ,#�'� G � �� '�&���%�������! ����! ,#�'�! �! ��!�1 �3�!7/�%%�

200 µs
���/�! � �!&�#��� &��� ��-.��� 
 #1 !�-. ��!�� ���&&���!��-.��'#!& "#1�#�%���! 3����� "# ���.�! G

� �� �#�%��� '�� � �!&�#���� &��-.�. �3�� '�! � &�!�!!��! � ��� 	� �� ������
 '��'#�-. ��!� �!��%%�&�!�� +#%%#!���'��-*#!& '�� ����!9 %#1�! ��.�3%�-. ��'#"����!* !!�� G 81 '�� ����!���� �#/ '�� � �� �%�� ��.�.�! "# *�!!�! 
 ,#�'� ���� '�� ��7��!!�.1 � KLLK '�� ��� ���� �� � 3�!#�"� G � �� �'�� '�.�!��� ��� ��!/�-. � '�� �-.,�-.7���%%� �! '�� �#�%��� '�� F
 � ,�� '�� � ��� 	� �� ������
 �� * !!�� *��!� .�.�������!���� 9��*��/��! G 81 '�� ��.% '�� $���&!���� �� ������!.��� �� �"'�1 ��.�.�!
"# *�!!�! 
 ,#�'�! � �,��%� ",�� $���&!���� "#��11�!&�/���� G � ��� ��� 1 �&%�-. 
 '� �� $���&!�� � �,��%� �
 �����!���9�%%� "#� ���/�&#!& ���.�! 
 �3�� �11�� !#� �L �����!���79�%%� �� $���&!�� 3 �!#�"� ,#�'�! G � ��' '�� ��.% '�� �����!���9�%%� �#/ � ��'#"���� 
�����! ",�� $���&!���� �! '�! ��&�!�%�-. /�� ��! $���&!�� 9 �&���.�!�! ��#1 G ���
� ��� 	� �� ������ 3���3 ����� �%� �! ��!�1 ��� ���� �� � ",�� $���&!���� ����%%�% 

#!' '�1 �� , ��' '�� ����!���� 9��' �� �%� G �! '�� 4� 72��1 I���.� �3�-.!��� K G� G�J,#�'�! '�� ��� ���� �� �� 1 �� ��!�� "#�:�"%�-.�! +#%%#!���'��-*#!& , ��'�� �! ",��
! �1 �%� $���&!���� �#/&����%� G ��� ���%#�� �! '�� (�!�#�&*��� '#�-. '�� K �����!7���9�%%� ,�!�&�� �� $���&!�� %��&� �1 4� 1 �%%�3 ����-. #!' ��� /�� '�� 9 �%��&�!'�
�!�%5�� 9��!�-.%:���&3�� *%��! �� �-LK� G

� �� �� � �� � ������
 �

�1 F
 � 3 �/�!' ��-. '�� � ' �* � /�� !�#���%� ���%-.�! I�33 G K G�J 
 �� ,#�' "#�����1 ���#!& 9 ! !�#���%�! $���&!����! 3�!#�"� G ��� � ' �* � /�� !�#���%� ���%-.�!
����& � ���&�� � �� ���& ���%����� � ���&��
� �����&
���#&�� � %�����#�&� ����� ���&���� ���� ��

����� #�����&�� ���� �" '

K�



K G� G � �� ���/�%%���&� ! #!' '�� ����*� �

��� @���A� � #� $ ��� � ' �* � /�� &�%�'�!� ���%-.�! �;��L
� G
3 ����!' �#� 	�!'�%! 9 ! �"�!��%%����!'�! 2�3 ��! 
 '�� �#/ '�� ",����! �����/�!1 ��7*� '�� F
 � !�-. ��,� �L ����.%#!&�%:!&�! I��,� �1 �-.�#��1 �� �1#1 J 3 �/����&�
,���! G �!�&���1� 3 ����!' '�� � ' �* � /�� !�#���%� ���%-.�! �#� �L� 	�!'�%! 
 '��
�3 �� �K 4. � 1#%��� %��� �#�&�%���! ,#�'�! G
��� � ' �* � /�� &�%�'�!� ���%-.�! I�33 G K G
J 3 �/�!' ��-. ", ��-.�! '�� %��"��!���/�*�11�� #!' '�1 F
 � G ; �� �.1 * !!��! '�� �#�-.�#&"����! 9 ! &�%�'�!�!
���%-.�! �#/ 300 ps

&�!�# 3 ����11� ,��'�! G ��� � ' �* � 3 ����!' �#� ��!�� 9����*�%#!' ��!�� . ��" !��% �#�&���-.����! $3�!� 9 ! � � 
� 4%����*�"�!��%%�� ������/�! G � ��
	 ����� '�� �����/�! ,�� 1 ��

6,5 cm
�! '�� +:.� '�� ����.%� .��� ,�&�! '�� .�.���!

���� &���!&�� �%� �1 ��!'� '�� ����*� �� I
9,9 cmJ 
 ,:.��!' �%%� �"�!��%%�� ��! '��&%��-.� � �-*� 9 ! K -1 .����! G 81 �1 F
 � "#��-*&�����#�� ���%-.�! �'�!���"����!"# *�!!�! 
 3 ���#& '�� �3���!' ", ��-.�! '�! $3�!�! �L -1 G

��� � ' �* � � '��!��! �! ������ F �!�� '�"# 
 ��!� �-.!�%%� ���&&���!��-.��'#!& ���� �!
"# *�!!�! 
 %��/����! �3 �� �#-. ��!� &�!�#� ����1 ���#!& 
 '�� "#� � �* !���#*�� ! '��
��#��! 3�!#�"� ,#�'� G

� �� �� � �� �����
�
��
� ������� ���� �

��� 4. � !�!7�!��":.%�� '��!��! 3�� +��� '�"# 
 '�! 8!���&�#!' �#� '�1 .:#�&�!���/�%%
KL → 3π0 1�� 9��% ��!&�&�!&�!�! 4. � !�! 9 ! '�1 ���/�%%

KS → 2π0 "#���!!�! G ; �� � �%/� '�� 4. � !�!7�!��":.%�� * !!��! 4. � !�! '���*����� ,��'�! 
 '��
'�! �*"����!"3 ����-. '�� ����*� �� 9��%����! G � �� �:.%�� 3 �/�!'�! ��-. �! ���3 �!
� �!&�! #1 '�� ����*� �9 %#1�! 
 '�� �����! 9��� � �!&� 3 ����.�! �#� K� 
 '�� �!'���!

K�




 �� ���% K G ��� +����K7$�� ���1 �!�
�#� �
 �"�!��%%�� �7�����/�! G � � � �'�1 �"�!��%%�� �7�����/�! 3 �/�!'�! ��-. �� 11
���.% 
 �! '�1 '�� 4. � !�! �! $%�*�� !74 ���� ! 4���� * !9�������! � %%�! G� :.��!''�! ����!!�.1�! /�� '���� �!�%5�� ,#�'� '�� �
F �1 ���&&�� I���.� �3�-.!��� K G� J3 �!#�"� 
 #1 4. � !�! "# �'�!���"����! 
 '�� '�� ����*� ��*"����!" 9��%����! .�3�! G
� * !!��! �-. ! �#/ ���&&��7��#/� #!9 %%��:!'�&� $���&!���� 9��, �/�! ,��'�! G

� �� �� ��� �����
 ����� � � ��� ������ �
� � �� � ��
��
� �������

��� .�'� !��-.� 
 �% ��1 ���� I�33 G K GHJ ,�� ��! $���!7�"�!��%%�� �7��1� %�!& 
 �% 7��1 ���� � 1 �� �.1 ,#�'�! '�� $!��&��! '�� .�'� !��-.�! ,�-.��%, ��*�!'�! ���%-.�!, �� 4� !�! 
 4� � !�! #!' +�#�� !�! &�1 ����! G $� 3 ����!' �#� ",�� ; '#%�! "# � �
�� 
 �!:%�! 
 ��!�1 9 �'���! I2� !�1 '#%J #!' ��!�1 .�!����1 I	�-*1 '#%J G 6�'��; '#% 3 ����!' �#� K� $���!� %����! 1 �� ��!�� � �-*� 9 ! K� 11 G �, ��-.�! '�! $���!7
� %����! 3�/�!'�! ��-. �3,�-.��%!' . ��" !��% #!' 9����*�% �#�&���-.���� �"�!��%%�� �7�����/�! G 6�,��%� '�� .�!�����!�!'�� %��&�!'�! . ��" !��%�! 3", G 9����*�%�! �����/�!��!�� ; '#%� ,#�'�! �3 �� F�-.�%�����&�3 �%! "# ��!�1 
 �!�% "#��11�!&�/���� #!'9 ! ��!�1 4. � 1#%��� %��� �#�&�%���! G
��� 9 �'��� ; '#% '�� .�'� !��-.�! 
 �% ��1 ���� '��!�� �#-. '�"# '�1 ���&&����!�! �-.!�%%�! ���� '�� (���1��!��&�� '�� $���&!����� "# %��/��! G F��'�� ,�� '��$���! '�� .�'� !��-.�! 
 �% ��1 ���� ���%,���� �! ��!�� !�-.� &�!�# 3�*�!!��! ��:�*�1 �&!�������� 
 � '��� �� #!' '�� .�!��� '�1 
 �% ��1 ���� %��&�!'�! ;5 !7�!��":.%��3 �� ; ���#!&�! 9 ! F�'#!&���511�����! " G	 G "#� �'�!���*��� ! 9 ! 4� !7���/:%%�!
#!3��#-.3�� ,���! G
� �� ;5 !7�!��":.%�� 3 ����!'�! �#� '��� $3�!�! 9 ! �"�!��%%�� ��!�����/�! 
 ",��. ��" !��% #!' ��!� 9����*�% �#�&���-.���� $3 �!� G 6�'� $3�!� 3�/�!' ��-. .�!���
�L -1 1����9�1 $���! 
 #1 ��-.��"#���%%�! 
 '��� !#� ;5 !�! ��������! * !!��! G
��&�! '�� #!3�*�!!��! ;�&!�������#!& '�� $���!� ,#�'�! ,�'�� '�� .�'� !��-.�

 �% ��1 ���� ! -. '�� ;5 !7�!��":.%�� /�� '�� ;���#!& '�� � �511����� 3 �!#�"� G

� �� ��� �� �����

��� ����!���� '�� +����K7����*� �� ,�� 3 �� ,����1 "# . -. 
 �%� '��� �%%� $���&!��7�� �#/&�"��-.!�� ,��'�! *�!!��! G ���.�%3 3 ���� +����K ��! �7��#�&�� ���&&���5�7��1 
 9 ! '�1 '�� '����� ��#/� �%%��'�!&� !#� ��! � /�,���73������� ��#/� ,�� G ��� .��,:.��!' '�! ����!!�.1�! KLL� #!' KLL� $���&!���� !#� 1 ��*���� #!' !�-.� ,�&&�7�-.!����! G �33�%'#!& K G� "��&� ��!� �3����-.� �3�� '�� �#��11�!�� ��% '�� ���%� '��
�����! 3��'�! ���&&����#/�! 9 ! +����K 
 ��� ,��'�! �! '�! / %&�!'�! �3�-.!����!�#-. ! -. �1 �����% ��%:#���� G

�L



K G� G ��� ���&&��

��� @���A� � #� $ ��� .�'� !��-.� 
 �% ��1 ���� �;��L
� G

Detektor

Neutraler

Geladener 
Trigger L1

Trigger

Supervisor

L1

Geladener

(Massbox)

Trigger

Supervisor

L2

Krypton-

Kalorimeter

Hadron-

Kalorimeter

Hodoskop

Anti+Veto-

Driftkammern

(Multiplizit.)

Trigger

Trigger L2C

Ausleseanforderungen zu den Subdetektoren

Flüssig-

Zähler

��� @���A� � #� $ �3����-.� �3�� '�� ���&&���5���1 9 ! +����K �;��L
� G

� �




 �� ���% K G ��� +����K7$�� ���1 �!�
� �� �� ��� ���� ��� �� �		��

��� $ �!&�!&����� "#1 F�9�%7� ���&&�� 3 ���#& ��,� � ;� " 
 ��� 1#���� 
 #1 9 1 F�9�%7
K ���&&�� 9���3 ����� ,��'�! "# *�!!�! 
 �#/ ��!� � ��� 9 ! ��,� �HL *� " ��'#"����,��'�! G ��� F�9�%7 � ���&&�� ,�� �! ��!�! /�� '�� &�%�'�!�! #!' /�� '�� !�#���%�!���/:%%� 9���!�, ��%�-.�! ���% &����!!� #!' * 1� %��� �! � ��',��� ���%������ G � ����
�#/���%#!& �! ",�� ���%� ���11� �#� '�! ;���#!&�! 9 !

ε′/ε
'#�-. +��� G

��� )!�#���%�0 ���% I+8� � J 3������� �#/ '�! �!/ �1 ��� !�! '�� �%�*�� 1 �&!����-.�!

 �% ��1 ����� #!' '�� .�'� !��-.�! 
 �% ��1 ����� G ��� F*� 3 ���� ��!� �-.!�%%� �� � �*7��9� �#�%��� 
 '�� �%%� K� !� �!�% &� � �&!�%� �#� � � 2×8

��%%�! �! '�� . ��" !��%�! #!'9����*�%�! �#���-.�#!& �#�%�� #!' '�� $!��&���#11�! 
 � , �� '�� �����! #!' ",��7��! ; 1�!�� �! 3 ��'�! 4� � �*�� !�! �#���-.!��� G �#�:�"%�-. ,#�' '�� �!"�.% '��;�� �1 � I�!&% G � ���� J �! 3 ��'�! 4� � �*�� !�! 3 ����11� G �#� '����! �!/ �1 ��� !�!*�!!�! '�!! " G	 G '�� $!��&���-.,���#!*� ��!�� $���&!�����  '�� '�� ���/�%%�9�����3�� �!!�.1 � '�� ���/�%%� 9 ! ",�� !�#���%�! 4� !�! 3 ���-.!�� ,��'�! G
��� ) &�%�'�!�0 ���% 3 �!#�"�� '�� �!"�.% '�� &��� � �!�! ���/�*�11��'�:.�� �! '�!��!"�%!�! ���/�*�11��! 
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Ekorr. = E(1,019 − 4,165 · 10−3 · E + 3,075 · 10−4 · E2 − 7,924 · 10−6 · E3).
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������ 9 ! '�1 ��!��#1 '�� ����.%�-.�� *%��!�� �%�
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K+/K−"#1 ���&%��-. '�� �� �*���! G � %%� ��%�*�� !�*�������! �#��� '�1
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 � !�! 
 �1 3���! � ��� &��11 �#11 ���� 
 #!��! '�� ���.:%�!��
K+/K− "#1���&%��-. '�� �� �*���! G � %%� ��%�*�� !�*�������! �#��� '�1 �-.!����#/ '�! "7������ ��!' �!&�,�!'� 
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 � !�! 
 �1 3 ���! � ��� &��11 �#11 ���� 
 #!��! '�� ���.:%�!��
K+/K− "#1���&%��-. '�� �� �*���! G � %%� ��%�*�� !�*�������! �#��� '�1 �-.!����#/ '�� ;���� ��!' �!&�,�!'� 
 '�� 4/��%� "��&�! '�� 4 ���� ! '�����

�-.!����� G

• �#� 8!���'��-*#!& 9 ! "#/:%%�&�! $���&!����! ,��'�! 	 �'�!&#!&�! �! '������*�� !�"��� '�� ��!"�%!�! ���%-.�! &����%%� G 	 ������ ,:.��!' '�� 4. � !�!7��%�*�� ! , ��' &�/ �'��� 
 '��� '�� ��!"�%!�! 4. � !�! ��!�! "���%�-.�! �3���!'*%��!�� �%�
5 ns

9 ! '�� �#�-.�-.!����"��� '�� 4. � !�! .�3 �! G �#�:�"%�-. 1#��'�� ��#� ��!� � �����!" 9 ! ,�!�&�� �%�
20 ns "#� �#�-.!����"��� '�� 4. � !�!.�3�! G

• ��� ��* !���#����� ;���� 1#�� ��!� *%��!��� � �����!" "#1 4�(7���� '�� ;��7
�� '�� &�%�'�!�! 
 � !� �%�

6 MeV/c2 .�3�! I���.� �#-. �33�%'#!& � G�J G
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$�!� , �-.��&� � ��#����"#!& /�� *%��!� �5���1 ����-.� 8!��-.��.����! ��� ��!� 1 �&7%�-.�� &%��-.� �*"����!" /�� �  ����9� #!' !�&���9� 
 � !�! G F��'�� ��� �! '�� � ��%��:�
'�� ����*� � !�-.� � ��/�*� 
 #!' �#-. '�� 3 ��'�! ����.%�! 9��:!'��! �3�� '�� ��#��'�� ����!!�.1 � �11�� , ��'�� �.�� 4 ���� ! �1 ����*� � G
��� )��!'��!0 '�� ����.%�! ��� ��!� 2 %&� %��-.��� �-.,�!*#!&�! '�� ��� 1 ��:�*��! '�! 2�.�#!&�1 �&!���! 
 '�� �3 �� � ��!� %�!&� ���� !�-.� �#����-.�!' ���3�% &�7.�%��! ,��'�! *�!!�! G �#-. '�� ����.% '�� �4� #!���%��&� �-.,�!*#!&�! 
 '�� '��
4 ���� ! '�� ����.%�! �1 ����*� � :!'��! G �� �"'�1 ,���! '�� ��!���! '�� ����.%�!,:.��!' '�� &���1��! ����!!�.1� �#/ ,�!�&� ; �%%�1 ���� &�!�# �3 ��%�&��� G � �!���
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��� @���A� � #	� $ ����.%� ���� ! I��(J '�� 9 1 �� �*�� 1 ����1 �&!���! �3&�%�!*7��! ����.%�! �! '�� 9�����! ���/�*�11�� G 6�,��%� ��! � ��� 4#!*�I
K+J #!' 3%�#�� �����-* I

K−J &�.���! "# ��!�1 ;�&!��/�%'7
���� 
 '#�-. #1� %�! '�� �� �*�� 1 ����1 �&!���! ��#�-.�! '��3 ��'�! '�� ����.%"�!��#1 G � �� 3 ��'�! ����.%�! �#� '�! �-.� 71 ���! ��!' �3��%�&��� 
 ��� ��!' �! '����1 	 �%' !�-.� "# #!����-.��7'�! G ��&�! '�� 3 ������! �3����-.�%�-.*��� ��!' '�� 2�.%��3�%*�!'�� ��!"�%!�! 4#!*�� ,�&&�%����! G

'�1 ;�&!���! ,#�'�! � ����9� #!' !�&���9� 
 � !�! � �' -. '#�-. '�! �� �*�� 71 ����1 �&!�� ��������� #!' �� �!����!'�! ",�� ��,�
4 cm

���������� ����.%"�!���!I���.� �33�%'#!& � G�LJ G
��� %��-.�� )��!'��!0 '�� ����.%�! /�.�� '�"# 
 '��� '�� �*"����!" /�� '�� 
 � !�! 
'�� '�! &%��-.�! ����.%�!&�!& '#�-.%�#/�! 
 �3�� '�� ���� !�-.� ���*� &%��-. ��� G �,��.�3�! ��-. � %-.� 8!����-.��'� 3 �� '�� 	 �%'#!& '�� ���.:%�!����� I� G�J �! ������
� �'!#!& �#/ 
 '��� /#!*�� !���� � �' -. #1 � 3����� 
 � � *%��!�� '�� 8!����-.��'���!' #!' 3�� !'��� $��*�� ",����� � �'!#!& *�!!�! '#�-. '�� �-.!���� 9��*%��!���,��'�! G
�.!%�-.�� &�%� /�� '�! �� �*�� 1 ����1 �&!���! 
 �#-. .��� *�!! �� *%��!� �-.,�!7*#!&�! �! '�� 2�%'��:�*� &�3 �! 
 '�� ",�� &�1 ����! #!' * !�� %%���� ,#�'�! 
 �3���3 �!/�%%� "# *%��!�! 8!����-.��'�! �! '�� �*"����!" /�.��! *�!!�! G ���.�%3 , ��''�� 1 ���%��� ����.%�  ���� ! I��(J 9 ! � �'�1 	#��� �! '�! �1 ��:�*���! '�� �*"��7��!" 3 ����11 �!'�! ����*� ����%�! &�1 ����! #!' 9 ! '�� 1 ���%���! ����.%� ���� !
�3.:!&�&� �*"����!"�-.!���� �#/ '�� '#�-. '�! ����*� ����% &�1 ����!�! ���%-.�!'#�-.&�/�.�� �
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��� @���A� � #		 $ �3��:!'� ", ��-.�! ��#��! #!' 1 ���%���� ����.%�  ���� ! �! '�������! ���/�*�11�� G �1  3���! � ��� &��11 ��!' �  ����9� #!' !�7&���9� 
 � !�! �#11 ���� 
 #!��! '�� ���.:%�!��
K+/K− G � %%� ��7%�*�� !�*�������! �#��� '�1 �-.!��� �#/ '�! �3���!' ��#�7��(�! '�� �����! ���/�*�11�� ��!' �!&�,�!'� 
 '�� 4/��%� "��&�! '��4 ���� ! '����� �-.!����� G

• �! '�� �����! ���/�*�11�� , ��' '�� �3���!' ", ��-.�! '�� 1 ���%���! ����.%� 7���� ! #!' '�� &�%�'�!�! ��#� �#/ '�! 	 ����-. ", ��-.�!
12,5 cm #!' 120 cm3 �&��!"� G ��� �!!��� � �'�#� , ��' '#�-. '�� � �-*� '�� ����.%��.�� I��'�#� ��,�

7,5 cmJ #!' '�! '���! 3�/����&��! 2%�!�-.�! #!' 	�/����&#!&�! '�� ��:.��
'�� ���/�*�11��! 3����11� I���.� �33�%'#!& � G��J G

• �! '�� 9 �����! ���/�*�11�� , ��' '�� �3���!' ", ��-.�! '�� '#�-. '�! ;�&!�7��! �3&�%�!*��! 1 ���%���! ����.%�  ���� ! #!' '�� ��#� �#/ 16,5 cm #!' 120 cm3 �&��!"� G ��� &������ �!!��� ��'�#� ��� !���& 
 '� '�� ;�&!�� '�� 1 ���%��� 4 7���� ! '�� &�%�'�!�! ����.%� #1 ��,�
2 cm

!�-. ��-.�� 3", G %�!*� 9���-.��3�I���.� �33�%'#!& � G�KJ G
• �! '�� 4 ���� ! '�� &�%�'�!�! � ' �* �� , ��' '�� ; �!'����3���!' 9 ! '���3&�%�!*��! 1 ���%���! ����.%� ���� ! #!' '�� ��#� 9 !

15 cm
&�/ �'��� G

• �#/ '�1 �%�*�� 1 �&!����-.�! 
 �% ��1 ���� F
 � , ��' �#/ '�! �3���!' '�� 4. 7� !�! "#� 1 ���%���! 4 ���� ! '�� !�-.� �3&�%�!*��! ����.%� &��-.!����! 
 '�!�#���%� ���%-.�! !�-.� 9 1 ;�&!���! 3���!�#��� ,��'�! G ��� �3���!' '��4. � !�! , ��' �#/ 1 �!'����!�
15 cm

9 ! '�� 1 ���%���! ����.%�  ���� ! #!' �1
:#����! � �!' '�� 
 �% ��1 ����� �#/ ��!�! �3���!' 9 ! 1 �!'����!�

5 cm
9 1�-.��-*�&�! ��!' '�� 
 �% ��1 ����� 3 �&��!"� I���.� �33�%'#!& � G��J G
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��� @���A� � #	� $ �3��:!'� ", ��-.�! ��#��! #!' 1 ���%���� ����.%�  ���� ! �! '��9 �����! ���/�*�11�� G �1  3���! � ��� &��11 ��!' �  ����9� #!'!�&���9� 
 � !�! �#11 ���� 
 #!��! '�� ���.:%�!��
K+/K− G � %7%� ��%�*�� !�*�������! �#��� '�1 �-.!��� �#/ '�! �3���!' ��#�7��( �! '�� 9�����! ���/�*�11�� ��!' �!&�,�!'� 
 '�� 4/��%� "��7&�! '�� 4 ���� ! '����� �-.!����� G

�#�-. '���� 
 �������! � %% &�,:.�%������ ,��'�! 
 '��� '�� �*"����!" 9 ! � ����9�!
#!' !�&���9�! 
 � !�! �1 F�#/� '�� ���� � :.!%�-. , �� 1 �&%�-. ��� G
�! ���%�! 9 ! '��� ����!!�.1�74��� '�! I�� � 
 �� � #!' �� 
J &�3 �� 4� 3%�1 �1 �� '�1 &�%�'�!�! � ' �* � 
 �� ,�� "���,��%�& � �,��%� ��! �����/�! �!�� "��!� G � ���/�.��� , ��'�� "# "���%�-.�! ������� !�! '�� �*"����!" #!' "# 8!����-.��'�! �! '��
�*"����!" 9 ! !�&���9�! #!' �  ����9�! 
 � !�! G ���.�%3 , ��' �! '�! &���1��! ��7��! '�� �#� ����1� %�� 
 '�� '���� 4��� '�! �!�.�%��! 
 ��! �����/�! �#!*��511�����-.
"#1 �!�� "��!��! �����/�! � , �� '�� �!�� "��!�� �����/�! 9 %%��:!'�& ,�&&��-.!����! G
� :.��!' ��!�� ���%� '�� ����!!�.1� /�� �� K %��/���� '�� !�#���%� ���% '�� ���&7&��� '#�-. ��!�! 2�.%�� �! '�� $%�*�� !�* ��!� '�#�%�-. �3 ��.�.�� ���&&������ G � ��8���-.� '�� 4� 3%�1 � ,�� �-.,�� "# �!'�! 
 �#-. '� �� � ��� '��-. �#/���� #!' , ��7'�� 9���-.,�!' G ���.�%3 9��&�!&�! /��� ",�� � -.�! 
 3�� �� % *�%������ #!' 3�. 3 �!,��'�! * !!�� G �� ,:.��!' '�! 4��� '�! 1 �� �3��.�.��� ���&&������ '�� !�#���7%� ���% '�� ���&&��� '��*��9 ���� ,#�'� 
 ,#�'�! ,:.��!' ���%�! 9 ! �� K '�#�%�-.,�!�&��

K± → π±π0π0 $���&!���� �#/&�"��-.!�� G � ��� /�.��� "# ��!�� �-.%�-.��!
�#�&�, &�!.��� '�� ����! '�� 9���-.��'�!�! ;�&!��/�%'74��� '�! G 81 �� K !�-.�9 %%��:!'�& "# 9��%����! 
 ,#�'� 3��-.% ���! '�� ����! 1 �� 4� 3%�1 �! �1 !�#���7%�! ���&&�� 9 %%��:!'�& �#�"#�-.%����! 
 #!' �� � #!' �� K "# ��!�1 �#� ����1� %�"#��11�!"#/����! G
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��� @���A� � #	� $ �3��:!'� ", ��-.�! 4. � !�! #!' 1 ���%���� ����.%� ���� ! �#/'�1 �%�*�� 1 �&!����-.�! 
 �% ��1 ���� G $� , ��' �#� � �'�1 $���&7!�� � �,��%� '�� *%��!��� �3���!' 3�!#�"� G �1  3���! � ��� &��11��!' � ����9� #!' !�&���9� 
 � !�! �#11 ���� 
 #!��! '�� ���.:%�7!��
K+/K− G � %%� ��%�*�� !�*�������! �#��� '�1 �-.!��� �#/ '�!

�3���!' 4. � !�!7��( �! '�� 9�����! ���/�*�11�� ��!' �!&�7,�!'� 
 '�� 4/��%� "��&�! '�� 4 ���� ! '����� �-.!����� G
�! �� � 
 '�1 ����� �#� ����1 � %� '�� ����!!�.1 � '�� 6�.��� KLL� 
 &�3 �� 4� 3%�1 �1 �� '�! � -.���!!#!&�! �! ��!�&�! ��:.��! '�� 9�����! ���/�*�11�� G 81 '�!7
! -. ����! �#/"��-.!�! "# *�!!�! 
 1#����! '�� � -.���!!#!&�! ��'#"���� ,��'�! 
,�� �! ��!�� 9��*%��!����! $� "��!" ���#%����� G F��'�� ,�� '�� ��#���* !���#*�� ! '��;���3 � ��.� �1 ��!'%�-. �#/ ��!� 9���-.%�-.����� $� "��!" 
 � '��� '�� F�9�%7K ���&7&�� ,:.��!' '����� 4��� '� ��!� '�#�%�-. ��.�.�� �!�� "��!" "��&�� G �� '�� �!���% '������! �! �� � ��%���9 *%��! ��� #!' !�-.� 1 �� � �-.��.��� '�9 ! �#�&�&�!&�! ,��'�!*�!! 
 '��� '���� �!�� "��!"�! *��!�! $ �!�#�� �#/ '�� $�&�3!�� .�3�! 
 ,��'�! '������! '�� �� � /�� '���� �!�%5�� !�-.� 9��,�!'�� G

� �� 
����� ����� ��� ��� �		�

;�� '��  3 �! 3��-.���3 �!�! ��%�*�� ! ,��'�! -� G
47

;�%%� !�! $���&!���� �#� '�!����! '�� 6�.��� KLL� #!' -� G
44

;�%%� !�! $���&!���� �#� '�! ����! '�� 6�.���
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∆g = (2,23 ± 2,07) · 10−4,
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δImpuls(∆g) = ±0,38 · 10−4.
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δB−Felder(∆g) = ±0,05 · 10−4.
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∆gno α = (1,57 ± 2,08) · 10−4 I� G��J
∆gno β = (1,43 ± 2,08) · 10−4.
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δno β(∆g) = ±0,02 · 10−4.
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